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@ , _; I kﬂow the multiplication tables till 5. Do you?

EXERCISE 4.1
A. Find the product.

L 9x4=_36 9.
2 3x3=_9_ 10.
3 8x3=_2< L
s 4x4=_16 12
s 6x4=24 13
6.9X3=-.L:I= §14.
. 17x3=_21 1.
8. 5x4=_20 §16.

B. Find the missing factor.

L6 x5 =30 | o
2. _ 8 x3 =18 10.
3.8><_1_f_ =32 11
4. _ 2 x6 =30 12.
S.A'_X{t =16 %13.
6. 4x_ 8 =32 |14,
7.10x_5 =50 s
8. 10x _\ =10 }16.

PO tn_ book and f(/f’\‘jﬁ
/\“ﬁgou

3Ix7=21_ 1.6%x6= 324 Co%fnifq:-
2= i 8 5x8=40
I9x5=_46¢ 1 19.5x2=_10
Sx5=_2% 0.6x3=_18
Ixg=_24 2.4 x8=_4 0
1:><2=.A')r | 2 1x5=_56
Tx5=_35" 12.2x5=_10

8x5=_40  jaix1=_]

_t x4=28 L1 % x5=40
1 x2=18 B 9x_ L =9
6x_ 4 =24 L9 4x_X =20
5 x4=20 20 5 x 8=140
A x2=12  a1x_10 =10
6x_A_ =48  |m4x_ 1 =

Tx_A =14 3 9x_4 =36

9x_2 =27 J24.8x_5 =40

N )

» HOTS question

Sunny had 1 coin of ¥ 2 and 2 coins of ¥ §
each. Tony had 10 coins of ¥ 1 each.
Who had more money? S tennt|
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ENRICHMENT ACTIVITY

Try these.

.

3. 3 x5=_15 -
1 9x6=54 |

CHECKPOINT!

5. 8 X 6= 43 ] 10.
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.8><7= 5 ¢
7 x4= 2%

Do ¢n book ond Cory.

. 8x3=_24%4

6x 8=_4%
7x8=_5%6

L4 x6=_2%

9x5=4S
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